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Question Number : 1 Question Id : 879753805 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the bulk modulus of Brass is 110 GPa and its Poisson’s ratio is 0.30. then the elastic modulus (GPa) of this material is:

Options:
1 ® 33
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Question Number : 1 Question Id : 879753805 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 ® 33
-~ % 367
2 ® 222
4.+ 132



Question Number : 2 Question Id : 879753806 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
While designing a mechanical system, a rectangular bar of length (1). width (b) and depth (d). where
b=d. is subjected to torsion. The maximum shear stress will occur at:

Options:
1 % the corner

- % along the diagonal

3 % the center
4 « niddle of longer side

Question Number : 2 Question Id : 879753806 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 879753807 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An isotropic, prismatic beam of span length (s) made up of a heterogeneous material (elastic modulus E and MI. I) and
carries a mid-point load (P). The deflection under the load will be:

Options:

| ® Ps*/3EL downward

o % Ps/3EL upward

o % Ps*/12EI downward

4 o Ps*/48EIL downward

Question Number : 3 Question Id : 879753807 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 4 Question Id : 879753808 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A steel beam is carrying just its self load. It needs to be so supported on two columns (span length. L) with equal
overhangs () on both the sides such that the bending moment at the mid-span is zero. The ratio of L/y should Dbe:

Options:

1 % 0.25
> #% 0.5
= % 1.00
i o 2:00

Question Number : 4 Question Id : 879753808 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 = 0.25

=z % 1.00

4 v 2.00

Question Number : 5 Question.ld: 879753809 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A structural steel building under construction is hit by a truck. The action that will be caused can be called
as

Options:

1 % Permanent action

- % Variable action
5 « Accidental action
4 % No action

Question Number : 5 Question Id : 879753809 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 6 Question Id : 879753810 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The point where bending moment changes direction in a beam carrying load is called as:

Options:
1 the point of contraflexure

- % point of zero stress
- % point of zero deflection

, % hon-yielding support point

Question Number : 6 Question Id : 879753810 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
s Faa @17 # ag g @7 d@e AT e aeear €, FEend ¢

Options:

o TR ST R
=T gfaee fag
=T fequr fag

> R

3 ®

, w FOUSEA HTUR fag

Question Number : 7 Question Id : 879753811 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The ratio of stress over strain in a linear portion of stress-strain curve is called as
Options:

| « Modulus of elasticity
> % Bulk modulus

= % Poisson’s ratio

4 » Rigidity modulus



Question Number : 7 Question Id : 879753811 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 8 Question Id : 879753812 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What will be the depth of the beam subjected to a maximum shearing stress of 5 MPa.awhile carrying 50 kKN load with
its width being 100 mm?

Options:
; % 100

5 o 150
2 % 200
4 % 250

Question Number : 8 Question Id : 879753812 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

100 fA#T Ii=E & @ §=iig 50 kN o€ @ 5 MPa & HOeaH H9F9s Siaad areqiad o &r
AMEE FAT FE?

Options:

. % 100
- « 150
5 % 200
. % 250

Question Number : 9 Question Id : 879753813 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

To get the effective length of a prismatic steel compression member of length L fully restrained at both the
ends. L is usually multiplied by what factor?

Options:
1w 0.65

> % 0.80
s % 1.00

4 % 1.20



Question Number : 9 Question Id : 879753813 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, » 0.65
. % 0.80
2 % 1.00
. % 1.20

Question Number : 10 Question Id : 879753814 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A steel member is designed with a consideration for failure governed by buckling, What should be the partial factor of
safety for materials to be considered?

Options:
L ® 0.90

> % 1.00
5 o 110
4 % 1.25

Question Number : 10 Question Id : 879753814 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, % 0.90
- % 1.00
2 v 1.10
4 % 1.25

Question Number : 11 Question Id : 879753815 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The limit state of serviceability of a steel structure includes all of the following except.

Options:
1 # Corrosion

- % Crack due to fatigue
3 % Fire

4 « Fracture due to fatigue



Question Number : 11 Question Id : 879753815 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 12 Question Id : 879753816 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where the imposed load is variable and exceeds three-quarters of the dead load. arrangements of live load
acting on the floor under consideration shall not include which of the following case?

Options:

, « Imposed load on all spans

-~ » Imposed load on two adjacent spans
5 » Imposed load on alternate spans

, % lmposed load on spans under consideration

Question Number : 12 Question Id : 879753816 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 13 Question Id : 879753817 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The maximum width of a covered steel building section should preferably be restricted to X m beyond which suitable
provisions for the expansion joint may be made. where X is;

Options:
1 ® 50
o B 00



s « 150
4 % 200

Question Number : 13 Question Id : 879753817 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

s« 150

4 % 200

Question Number : 14 Question Id : 879753818 Question Type: MCQ Display Question Number: Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
While designing the foundations of a steel building. the strength and rigidity of the foundation relative to the
superstructure will be:

Options:
, » Lower than the superstructure

5 of Equal to superstructure
- u Higher than superstructure

, % Does not have to be in proportiofl to’superstructure

Question Number : 14 Question Id : 879753818 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 15 Question Id : 879753819 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A member in a steel structure is introduced as a tension member. The structure is built in a seismic zone 5 (highest
possible) and there could be a reversal of stress to compression. when earthquake comes. What should be the maximum
slenderness ratio of this member?

Options:

1 % 180.00



> % 250.00
= % 300.00
4 « 350.00

Question Number : 15 Question Id : 879753819 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, % 180.00
. % 250.00
- = 300.00
. v 350.00

Question Number : 16 Question Id : 879753820 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which type of spillway is used where a temporary and small storage above the crest is required

Options:
, w Shaft type

-~ % Side channel type
-  Darrage type

4 % Chute type

Question Number : 16 Question Id : 879753820 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 17 Question Id : 879753821 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Design yield of a storage reservoir is:

Options:



1o lower than firm yield
-~ % equalto firm yield
= % higher than firm yield

4 % does not depend on firm yield

Question Number : 17 Question Id : 879753821 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TR STSIUT SFeT &1 B 9T &
Options:

| v FH RIST ¥ FH

o % GH TIHT F FET
- » BH TaT ¥ ywfEw
L w BH g W AT @ e '

Question Number : 18 Question Id : 879753822 Question Type: MCQ Display. Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Cavitation in pumps is caused primarily due to
Options:

, % Over-heating due to low flow

- » Leakage along the rotating shaft

5  thenet positive suction head of the system is too low for the selected pump

4 » Lack of prime

Question Number : 18 Question Id: 879753822 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 19 Question Id : 879753823 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The specific capacity of a well in an area of stable weather conditions is
Options:
| « afunction of time after starting of pumping

- % constant over time after completion and commissioning

- % may fluctuate depending on the type of aquifer

4, % practically depends on the viscosity variations due to temperature

Question Number : 19 Question Id : 879753823 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T Ates TR I v & A R Fv dr Afved awar §
Options:

Wdﬁ#%ﬁgﬁﬂ:mmmwmm

9 Bl AR IF FA & TE AT F q1Y Aad

. B

1.

. A F YFR R AR 3aR W= & wHAT §
, % COTEEI §F ® AM9A % FROT 9w G2 feasiy &y &

Question Number : 20 Question Id : 879753824 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The capability of a rock or unconsolidated sediment to transmit water through itself while considering unit
width and full depth is under unit hydraulic gradient called as

Options:

, w Permeability

o o lransmissibility

- % Specific yield

4 % Specific retention

Question Number : 20 Question Id : 879753824 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 21 Question Id : 879753825 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An frrigation project is called as a major project if the culturable command area (hectares) is more than:

Options:
;% 2500

> % 5000
=z B 7500
4 v 10000

Question Number : 21 Question Id : 879753825 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 = 2500
- % 5000
= % 7500
4 + 10000

Question Number : 22 Question Id : 879753826 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Dowel bars are provided in jointed conerete pavements to

Options:

1 « Transfer load from one slab to.another
> % Resist thermal stresses at corner

- % Avoid pumping action

4 » Provide reinforced concrete composite action

Question Number : 22 Question Id : 879753826 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 23 Question Id : 879753827 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A channel or a free-flow tunnel leading water to the forebay or a pressure tunnel leading the water to the
surge tank is called as

Options:
1 % Penstock

> « Headrace tunnel
% % Tailrace tunnel
4 % Diversion tunnel

Question Number : 23 Question Id : 879753827 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 24 Question Id : 879753828 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When compared to a horizontal smeface, the hydraulic jump on a sloping glacis is always:

Options:
1 # Less definite but moreetficient

- # Less definite and less efficient
= % More definite and more efficient
4 « More definite and less efficient

Question Number : 24 Question Id : 879753828 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 25 Question Id : 879753829 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A flow in which the velocity of the fluid at a particular fixed point does not change with time is
called as

Options:

, « Stationary flow

> % Unsteady flow
z % Vortex flow

4 % Uniform flow

Question Number : 25 Question Id : 879753829 Question Type: MCQ Display Question Number < Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 879753830 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An experiment is designed«to perform and analyze sediments in a canal in Rajasthan. Which of the
following should be most important shape parameter that should be accounted for?

Options:
1 % Form factor

- % Shape factor

= o Sphericity

4 % Flakiness

Question Number : 26 Question Id : 879753830 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 27 Question Id : 879753831 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Usually a canal in filling is provided with a side slope of

Options:

1 % 1:1

& -8 1251
=z o 1.5:1
4 % 2:1

Question Number : 27 Question Id : 879753831 Question Type: MCQ Display Question Number :Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 28 Question Id : 879753832 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The design capacity of an irrigation canal is usually controlled by:

Options:
, w Kordemand of rabi crops

-  Kor demand of Kharif crops
- u Average rabi demand

4 % Average Kharif demand

Question Number : 28 Question Id : 879753832 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 879753833 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a cash crop?

Options:

1 % Cotton

> % Groundnut
3 ® Coffee

4 « Rice

Question Number : 29 Question Id : 879753833 Question Type: MCQ Display Question Number.: Yes. Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 30 Question Id : 879753834 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Kor watering is the irrigation Wwater supplied to the crop:

Options:

. + When the crop has‘grown few centimeters and water is applied for the first time

- % Just prior to harvesting

- % at the time of sowing

, » Aafter harvesting the crop

Question Number : 30 Question Id : 879753834 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 31 Question Id : 879753835 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an irrigation field, a farmer suspects that due to salinity his crops are not growing properly. Which of the following
methods he should employ to measure the salinity?

Options:

, « Electrical conductivity method

> % Evaporation method
5 # pH-value

4 % SAR value

Question Number : 31 Question Id : 879753835 Question Type: MCQ Display Question.Number: Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 32 Question Id : 879753836 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When crops are grown on‘ridges. running on the sides of the ditches, then the kind of irrigation adopted is called as:

Options:

, w Drip

> % Flood
= « Furrow

4 % Check

Question Number : 32 Question Id : 879753836 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 33 Question Id : 879753837 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A small hydro project is designed to have a head of 35 m at the entry point of turbine. Which of the following turbines
should be mostly selected for efficient operation?

Options:

| % Turgo

> % Pelton
= #% Francis
T, Kaplan

Question Number : 33 Question Id : 879753837 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 34 Question Id : 879753838 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A laser-Doppler anemiometer is used for measuring:
Options:
, w» Drag force on a body

- % Surface tension at the interface
= % Shear stress distribution

4 « Turbulent velocity fluctuations in a flow

Question Number : 34 Question Id : 879753838 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 35 Question Id : 879753839 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For measuring the static pressure in a pipe, a pressure gauge is usually connected to:

Options:
1 % Orifice meter

> % Venturimeter
= % DBarometer
4 « Piezometric

Question Number : 35 Question Id : 879753839 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 36 Question Id : 879753840 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The critical depth in a channel carrying a fixed discharge is a function of ;

Options:
, « Cross sectional geometry

- % Longitudinal slope
5 % Viscosity of the fluid

, % Surface material roughness

Question Number : 36 Question Id : 879753840 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 37 Question Id : 879753841 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Flow can be more or less uniform in which of the following section characteristics?

Options:
, w Frictionless rectangular channel

- u Horizontal trapezoidal channel

= % Semi-circular channel

4  Wide rectangular channel

Question Number : 37 Question Id : 879753841 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 38 Question Id : 879753842 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a pipe flow system. if there is a minor loss due to sudden contraction, then it is due to:

Options:

, « How expansion
> % friction

= % cavitation

4 % contraction itself

Question Number : 38 Question Id : 879753842 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 39 Question Id : 879753843 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a laminar flow through a pipe. the Darcy-Weisbach friction factor is proportional to which of the following:

Options:
1 ® 3Re/l6

# 16/Re
# 32/Re
¢ 04/Re

A R DR

Question Number : 39 Question Id : 879753843 Question Type: MCQ Display Question‘/Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 » 3Re/16
- % 16/Re
= % 32/Re
4 v 64/Re

Question Number : 40 Question Id ;879753844 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following geometric figures represent the velocity distribution inside the laminar boundary layer in a
turbulent pipe flow ?

Options:

, % exponential decay

-~ % polynomial

5 o linear

4 % cubic parabola

Question Number : 40 Question Id : 879753844 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 41 Question Id : 879753845 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
While considering the designing of a body for drag and lift forces, a streamlined body is usually the one in which

Options:
, w thedragis zero

o  flow separation is suppressed
z % flow is laminar

, # flowis along the streamlines

Question Number : 41 Question Id : 879753845 Question Type: MCQ Display Question'Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 42 Question Id : 879753846 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Laminar flow of a real fluid is given by which of the following equations?

Options:

| % Hagen-Poiseulle
> % Bernoulli

- % Euler

4 « Navier-Stokes

Question Number : 42 Question Id : 879753846 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 % g9 -9H1% (Hagen-Poiseulle)
EF-lﬁ' (Bernoulli)

3 ® HTTST (Euler)

a ATITT-TFT (Navier-Stokes)

o R

Question Number : 43 Question Id : 879753847 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A student did a dimensional analysis of certain parameters and noted the following results. Which of the following is
incorrect?

Options:

1+« Momentum : MLT]

> % Work: ML? T2

5 % Power: ML2 T2

4 R Dynamic viscosity: FL2T

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 43 Question Id : 879753847 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

|« T MLT
5 % T MLZ T2
5 % 9ET: MLZ T2

, % JaeF 9T FL2 T

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

i

Question Number : 44 Question Id : 879753848 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
While applying the momentum and energy equations in fluid mechanics. a control volume is often referred to

Options:
, w Volume of fluid controlling device

> #% Volume in which control device is situated

5 % volume of fluid flowing per unit time

4 v volume fixed in space



Question Number : 44 Question Id : 879753848 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 45 Question Id : 879753849 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A turbine is set 40 m below the water level of a reservoir and is fed by a 60 cm diameter pipe. A 45 cm diameter pipe
discharges water from turbine to atmosphere. If the friction is neglected and if the dischargeis 0.81 cum/s, the velocity
(m/s) at outlet will be

Options:
% 8/pi

Question Number : 45 Question Id : 879753849 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

|« 8pi
o TR
.« 16/pi

4 % 20pi

Question Number : 46 Question Id : 879753850 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A fresh engineering graduate experimented on water and measured the total head and hydraulic grade line. He then
computed the difference between the two: what will he obtain?

Options:
1 # Elevation head

- % Piezometric head



= % Pressure head
4  Velocity head

Question Number : 46 Question Id : 879753850 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 47 Question Id : 879753851 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is an incorrect statement in regard to selection ef Mereury to be used in Barometers over other
liquids?

Options:

| v Mercury has a very high vapor pressure

-~ » Mercury's freezing point is much lower

5 » Mercury does not evaporate easily

4 # Mercury being a metal shines brightly. hence easier to read

Question Number : 47 Question Id : 879753851 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 48 Question Id : 879753852 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The shear stress for fluids. as per Newton's law of viscosity is

Options:



, % Inversely proportional to the rate of angular deformation

-  Directly proportional to the rate of angular deformation

- % Inversely proportional to angular deformation

4 = Directly proportional to angular deformation

Question Number : 48 Question Id : 879753852 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 49 Question Id : 879753853 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

As the temperature of a fluid rises, the viscosity
Options:

1 % Increases

- o« Decreases

- % Remains unchanged

, » Drastically increases

Question Number : 49 Question Id: 879753853 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 50 Question Id : 879753854 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The length of a transition curve is proportional to:
Options:

1% V/R (V=velocity and R=radius of curvature)

> R 1\-"2fR
3 o V3R

4 ® 1\-"4-"rR

Question Number : 50 Question Id : 879753854 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% VIR (V= 3T 3R R=asar # =)
5 % V2R
= v V3R
4 % VIR

Question Number : 51 Question Id : 879753855 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is the principle of plane-table as used in surveying?
Options:

1 « Parallelism

> # lraversing

- u [riangulation

, % From part to whole

Question Number : 51 Question Id : 879753855 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 52 Question Id : 879753856 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which of the following is the most accurate method of plotting a theodolite traverse?

Options:
, w» Tangent method

> % Consecutive coordinates

-  Independent coordinates

4, % Included angles

Question Number : 52 Question Id : 879753856 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 53 Question Id : 879753857 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The angle between the magnetic and true meridian is

Options:
1 #% Azimuth

» x Dip
- % Inclination

4 + Declination

Question Number : 53 Question Id : 879753857 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 54 Question Id : 879753858 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

A planimeter is used for mechanically measuring
Options:

1 % Altitude of a location above mean sea level

-~ % Inclination of a slope

= % Pressure at a location

4  Areaofaplane map

Question Number : 54 Question Id : 879753858 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 55 Question Id : 879753859 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A 0.5 m internal diameter shell contains fluid ata limiting pressure of 500 N/m?. If the thickness of the shell is 20 mm.
then what is the tensile stress {N.f1113j exerted onthe shell?

Options:
1 % 4250

-~ % 5500
= o 6250
4 % 7200

Question Number : 55 Question Id : 879753859 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % 4250
. % 5500
2 « 6250
4 % 7200



Question Number : 56 Question Id : 879753860 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The line joining the intersection of cross hairs to the optical center of objective in a theodolite is called as

Options:
1 % Parallax

> « Line of collimation
z % Azimuth

4 » Line of sight

Question Number : 56 Question Id : 879753860 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 57 Question Id : 879753861 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Moment distribution method will be best suited for solving which of the following systems:

Options:
1 % Trussed beam

> % Space frames

5 % Inderminate pin jointed trusses

4  Rigid frames

Question Number : 57 Question Id : 879753861 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 58 Question Id : 879753862 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Optical square is based on which of the following principles:

Options:
1 % Double refraction

> # Refraction
= % Reflection
4 +« Double reflection

Question Number : 58 Question Id : 879753862 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 59 Question Id : 879753863 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

While applying correction due to sag in a c¢hain or tape survey, which of the following shapes is assumed
to be followed

Options:
1 % Circular

> « Parabolic
- % Hyperbolic
4 % Quadratic

Question Number : 59 Question Id : 879753863 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 60 Question Id : 879753864 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If a transition curve is introduced between a straight and a curve such that a super elevation of 15 cm is introduced over
a curve and if the rate of super elevation is 1 in 500, then the length (m) of the transition curve will be

Options:

1 % 50.00
> « 75.00
= # 100.00
4 % 150.00

Question Number : 60 Question Id : 879753864 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, % 50.00
» « 75.00
- = 100.00
., = 150.00

Question Number : 61 Question Id : 879753865 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In swrveying measurements, the bearings taken in clockwise direction w.r.t. magnetic north are referred as

Options:
, % Magnetic meridian

- % True meridian

5 « Whole circle bearing

, » Reduced bearing

Question Number : 61 Question Id : 879753865 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 62 Question Id : 879753866 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Contours of different elevations do not unite to form one contour except in case of a

Options:

1 % Pond

> « Vertical cliff
5 w Ridge

4 w valley

Question Number : 62 Question Id : 879753866 Question Type: MCQ Display Question Number.: Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 63 Question Id : 879753867 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The indirect method of contouring has all the following advantages over direct method except

Options:
, = Economy
> % Suitability for hilly terrain

5 Accuracy

4 % Suitability for large projects

Question Number : 63 Question Id : 879753867 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 64 Question Id : 879753868 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The acceptable outdoor noise level (dB) in urban residential area is

Options:
| % 25-35

5 % 30-40
3 o 35-45
4 % 40-50

Question Number : 64 Question Id : 879753868 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % 25-35
o # 30-40
- » 35-45
., % 40-50

Question Number : 65 Question Id : 879753869 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In general. the total solids destroyed (%) during the anaerobic digestion of solid waste range between

Options:
| % 20-40

> « 40-60
s % 60-80
4 % 80-100

Question Number : 65 Question Id : 879753869 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % 20-40
- « 40-60




. = 60-80
. = 80-100

Question Number : 66 Question Id : 879753870 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A municipality is searching for landfill cover material. Which of the following soil types. in general, should be used in
order to keep flies from emerging?

Options:

; w» Clean gravel

> % Clean sand
=z ® Silt

4  Clay

Question Number : 66 Question Id : 879753870 Question Type: MCQ Display Question Number :Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 67 Question Id : 879753871 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The amount of water retaingd in solid waste. which after saturation is allowed to drain freely is termed as:

Options:
1 % Ambient moisture

-  Field capacity

5 » Natural yield

4 % Retained moisture

Question Number : 67 Question Id : 879753871 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 68 Question Id : 879753872 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Castigliano's theorem is essentially a
Options:

1 « Force method

- » Displacement method

- % Strain method

, % Equilibrium method

Question Number : 68 Question Id : 879753872 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 69 Question Id : 879753873 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If Carbon monoxide 18.1.3% in air, then which of the following may be caused?

Options:

1 + Death in less than 3 min
> % Dizziness

= % Frontal headache

4 % No effect

Question Number : 69 Question Id : 879753873 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e g1 H Faa AAdEFAEs 1.3% g, a @5 7 ¥ =3 FRoT #7247 2 GeRar 272

Options:

1__33‘@?3#3&3?&?5




- B ﬁTﬁEhTIET
o » 3T F fAReS
4 x IS TET E

Question Number : 70 Question Id : 879753874 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which type of air pollutant is Ethylene?
Options:

1 % Solid

- w Liquid

z Hydrocarbons

4 u Aldehydes

Question Number : 70 Question Id : 879753874 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 71 Question Id : 879753875 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If about 90% of suspended solids are to be removed by coagulation. then which of the following coagulant should be
preferred?

Options:
1 #% Alum

- % Chlorinated copperas

= « Ferric chloride

, » Ferric sulphate

Question Number : 71 Question Id : 879753875 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afe wemerET 90% FfE 39 Thea SENT g ST § @ R 7 ¥ g Thew & wufdwar & s
=fET?

Options:




4 B WW

Question Number : 72 Question Id : 879753876 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a sludge digestion tank. which of the following gases is primarily present?

Options:
| % Oxygen

- % Nitrogen dioxide
= % Carbon dioxide

4 « Methane

Question Number : 72 Question Id : 879753876 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
w9 9TEe ¢ A, A & ¢ Fa @S9 geransuityg w6 22

Options:

l_éﬁm
, x TSI STSIHTFAISS

L« FES SEHTFEES
4 v HAF

Question Number : 73 Question Id:: 879753877 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If 75% of water supplied is available for disposal on a sewage farm constructed for a population of 25000 and the water
is supplied at a rate of 2001t per head per day. then the net area (in hectares) of the required farm will be (assume the
farm land is capable of consuming 250001t per day per hectare)

Options:

1 ® 50

> R

th O
o B o

1
3¢ 1
20

=

4. W

Question Number : 73 Question Id : 879753877 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 % B0
> % 100
=z « 150
4 % 200

Question Number : 74 Question Id : 879753878 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the dilution factor of sewage is found to be 100. then which of the following treatments are required?
Options:

1 % No treatment

- % Complete treatment

-  Extensive treatment to bring BOD below 20 ppm and SS'below 30 ppm

4 % Chemical precipitation

Question Number : 74 Question Id : 879753878 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofe fordr ¥t &7 Tegar T[T 100 9 Srar § & EE 7 @ O weitue & smaeaear 82

Options:

| IS WU
. TOT Femers
2. 2N
. » BOD & 20 ppm& i 3 SS #r 30 ppm & F= & F T @ Feuw
4 W mm

Question Number : 75 Question Id : 879753879 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In an industrial area, the industrial sewage has a 5-day BOD of 800 kg per day at 20 degree Celsius. If the average
population equivalent per capita per day is 80 g of 5-day BOD at 20 degree Celsius. then the equivalent population
(persons) for which the industry can be charged will be:

Options:
|+ 10000

> % 15000
s % 20000
4 % 25000



Question Number : 75 Question Id : 879753879 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF T, e 20 T==f afewaw 9T 9fe e 800 &Far &7 5 f&=7 BOD #| 3f%
AT FTEEAT & e 9 Aed IS 20 == @fcm@aw 9T 5 &7 BOD 80 ImH & w%
TS e ERT (ufET) e R ¥ == 3T 31 "@ear B, 2

Options:

1« 10000

> % 15000

= % 20000

4 % 25000

Question Number : 76 Question Id : 879753880 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the pH of sewage goes down below 5. which of the following processes s severely affected?
Options:

1 % Sedimentation

» » Coagulation

= « Anaerobic treatment

4 % Dilution

Question Number : 76 Question Id : 879753880 Question Type ::-MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

%gm#wmmsﬂmﬁmﬁ,ﬁﬁmmﬁﬁﬁmﬁﬁmmﬁqmﬁa

Options:

| & HAGHICA

5 #% Tehocel

5 v HATET ITER
i PR

Question Number : 77 Question Id : 879753881 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For determining a 5-day BOD. sewage has been diluted to a ratio of 100. If the contents of the dissolved oxygen at the
beginning and end of the test are respectively 15 and 7.5 ppm. the 5-day BOD (mg/1) will be;

Options:
, % 150

2 % 1000
4 % 1500



Question Number : 77 Question Id : 879753881 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5 o &1 v &S 1 FuRer i F v, ve @ies #7100 F A H fFar wm=m 1 3fe
W#maﬁvﬂaﬁgﬁasﬁmﬂm%mmw 15 ﬁr?.gggm %TM %ﬁ;r BoD (%r-ngfl)

Options:

. % 150
- » 750
- = 1000
. % 1500

Question Number : 78 Question Id : 879753882 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The 5-day Biological oxygen demand (BOD) of sewage is found to be 325 mg/1. This sewage will be classified as:

Options:
| % Strong sewage

5 of Average

z % Weak

4 % Standard

Question Number : 78 Question Id : 879753882 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF "9 &7 5 BAr Fr AT TaatEF A=A AT (BoD) 325mg/| 9T 4T 7 o= & g w7
7 Feifepa Ohar sroen? g o

Options:

1 ® &,

Question Number : 79 Question Id : 879753883 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In an area, if storms appear in every 10 years and the duration of each storm is 361 min, then the intensity of rainfall
(mm/h) will be approximately given by

Options:
1 ® 15
o o 20
T B 25

4 B 30



Question Number : 79 Question Id : 879753883 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
I v 8T H, GF Teaw 10 T F A1 € 3R TohF = F 1A 361 Fae g, O I &
HFAAS drgar (mm/h) fémes gamr & Srefe?

Options:

; = 15
>« 20
z % 25
4 % 30

Question Number : 80 Question Id : 879753884 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A catchment area consists of 25 hectares. each of watertight roofs (impermeability factor 1 = 0.90), gardens (i=0.1).
forest land (i=0.05) and areas with housing units (i=0.8). What will be the runoff coefficient of the area?

Options:

1 « 0.463
> % 0.116
= % 0.578
4 % 0347

Question Number : 80 Question Id : 879753884 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T SR &1 25 g A H hoN g 8 T 9= E od (3ed FR i= 0.90), eI (i =
0.1), a1 &1f& (i = 0.05) 3R AT $Hrsal arer &1F (i = 0.8) «nfHAw & &7 F7 9= Ui Far
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Options:

1« 0.463

- % 0.116

z & 0.578

4 % 0.347

Question Number : 81 Question Id : 879753885 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A cable supported at two ends primarily resists external loads by
Options:

, w» Bending

- » Compression

3 « Tension

, » Bending and compression



Question Number : 81 Question Id : 879753885 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar fRT X el g8 O AR HEIET § aET 6K F IRy fFEe SERr wer 82

Options:

Question Number : 82 Question Id : 879753886 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compared to Lime soda process, Zeolite process has advantages in termsiof'the following, except

Options:
1 # Better removal of hardness

- % Plant is compact and small
5 % Skilled supervision is not required

4 Economy

Question Number : 82 Question Id : 879753886 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SSH WSt Sfehar &1 o A7, SHIase qhhar & TAforad Ges 7 e o §, 9 oS

Options:

| & TORAr F dgaX fAarer
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Question Number : 83 Question Id : 879753887 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The application of chlorine after all the treatments of purification of water are completed 1s termed as

Options:
1 # Pre-chlorination

> « Post-chlorination
= % Double chlorination

4 % Super-chlorination



Question Number : 83 Question Id : 879753887 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ul & oftge F T Weft 3UER F W @ ¥ A1E FAN & HJTART F FET ST &

Options:

| % TR

o v TeE-FAIARIOT
. % SISO
4 % HATI-FARISERIOT

Question Number : 84 Question Id : 879753888 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A UDL of intensity w/length is applied on a propped cantilever of spandength 1. The bending moment at
the fixed end will be

Options:

1 ® wi?/24
o % wl?/16
2 wl/12

Question Number : 84 Question Id : 879753888 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

vs ZEve (UDL) St 9fa s@s @ars & digar w g, U 907 @6 | & U SfedEy W o] faar
ST 1 R B 9 a5 gun = e

Options:

L w w224

5 % w416
2 % w412

4 v W48

Question Number : 85 Question Id : 879753889 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Usually, the number of unknowns to be determined using stiffness method is

Options:
; % the sum of static and kinematic indeterminacy

-  the kinematic indeterminacy



- » the static indeterminacy

4 % fixed

Question Number : 85 Question Id : 879753889 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

OTHATITAT, FORAT afer &7 399 F3 e #T =i sramar $r g&ar #ar g9 27

Options:

1 % Tyfas 3R oifas Af=Raaar & I
> v Tiaer AR

3 % Tyfas sfafeaaar

4.361:'?547

Question Number : 86 Question Id : 879753890 Question Type: MCQ Display Question Number: Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the flow rate is 100 cumv/h and if the length. width and depth of a detention tank are respectively 15. 6 and 3 m. the
detention period (h) will be

Options:

, ® 033
> % 1.25
3 o 2.70
4 % 3.30

Question Number : 86 Question Id : 879753890 .Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afg garg #r 2T 100 cum/h HT T a0 & Fr s@E, =iEE 3 e FAw 15, 6 3w 3 #ex &,
ar gy 3= (get #) Far e

Options:

; % 0.33

- ® 125

2 ¢ 2.70

4 % 3.30

Question Number : 87 Question Id : 879753891 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The acceptable limit (mg/1) of total dissolved solids for drinking water is
Options:

; % 250

> « 500

= % 1000



4 % 1500

Question Number : 87 Question Id : 879753891 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
9 & U & v g Fufea 3w fr FHed @@ (mg/l) &

Options:

% 250
. » 500
- % 1000
. = 1500

Question Number : 88 Question Id : 879753892 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In last three decades, the population of a city was recorded as 20000. 30000 & 40000./What will be the population for
which a water supply system should be designed. if it should be adequate forsiext two decades?

Options:

; % 10000
> % 35000
= « 60000

4 % 75000

Question Number : 88 Question Id : 879753892 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Rroer 31 SR A, T EY Fr FFEEAr.20000, 30000 3T 40000 = #T TAT off| FFEEDT AT
Fifaw e T ve o 9= i 39 womel @ FAer R Ser g S see gy gue & e g
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Options:

. % 10000
. = 35000
- « 60000
., # 75000

Question Number : 89 Question Id : 879753893 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A water supply scheme is to be designed for an area with over 90% population as lower income group. What should be
the water demand (liter per day) considered in designing such system?

Options:
; ® 100

5> o 135
2 % 150



4 % 200

Question Number : 89 Question Id : 879753893 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
90% ¥ 3 o 3 91 i FaEeEw I vF &Y & U vE 9wl & i deer & FEer G
JT & SH T FT JUmer F TAWT F v 96 Fr A7 (A Iafed) e g e

Options:

. % 100
5 @ 135
2 % 150
4 % 200

Question Number : 90 Question Id : 879753894 Question Type: MCQ Display Question Number<: Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Whose theory is primarily applied for designing rigid pavements?
Options:

, w DBossinessq

>  Westergaard
5 # Skempton

4 % MecCormac

Question Number : 90 Question Id : 879753894 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

7T FieA 1 AEFeTS i & o geg &7 ¥ fews ea # o fomar smar 22
Options:
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o o TEETE
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4 % HEHIHS

Question Number : 91 Question Id : 879753895 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A highway is to be designed for carrying heavy and very heavy traffic loads. As per IRC. the minimum grade of
concrete prescribed for the pavement quality concrete (PQC) layer is

Options:
;. % M35

o> o M40
3 % M45



4 % M50

Question Number : 91 Question Id : 879753895 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
a1 3T agd o8 AT 9R F weE & O ow aemn & AET e S g s &
AR, FEA ForEear FHe (PQC) Wa & fow il whe & =7a7 9= &

Options:

| % M35
5« M40
2 = M45
. # M50

Question Number : 92 Question Id : 879753896 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a strength measurement test commonly adopted for evaluation of soil subgrade?

Options:

, w California bearing ratio

- % Dynamic cone penetration test

- % Plate load test

4 « Falling weight deflectometer

Question Number : 92 Question Id : 879753896 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 93 Question Id : 879753897 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Marshall stability test for bituminous mixtures is carried out at what temperature (1 deg C)?

Options:
1 ® 40

o B 50



3_.;?5[}
g4 W 70

Question Number : 93 Question Id : 879753897 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fogfaaw Bamr & o Al ferar wfeor e ava= (2 1 B30 afowas) v fRar smar 82

Options:

; = 40
- % D0
3. ¢ 60
4 % 70

Question Number : 94 Question Id : 879753898 Question Type: MCQ Display Question Number < Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

As per IRC. the minimum elastic recovery for crumb rubber modified bitumen should be:
Options:

1 ® 30%

> o 50%

T B 75%
4 B 80%

Question Number : 94 Question Id : 879753898 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HEARE F AR, F9 @S ET Rgaa & v w3707 e = 9T &
Options:

, % 30%

> v 50%

5 % 75%

4 % 80%

Question Number : 95 Question Id : 879753899 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is not a cause of alligator cracking in flexible pavements?
Options:

; = Relative movement of pavement layer material

- u Repeated application of heavy wheel loads

- » Swelling or shrinkage of subgrade or other layers due to moisture variation

4  Sliding of side slopes



Question Number : 95 Question Id : 879753899 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
et & & i 1 oo HTEA H TSRS 3HieheT 1 Teh FHI0T AET 87

Options:

|y DIEH A WA A Afafafe

s ST SITEAT TS T AR-AT ST

- » TFIUS T HeT Al H AH TRIAA o HRUT SedAdled T7 Tepr=ied
. TS Tollel &l TSl

Question Number : 96 Question Id : 879753900 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In regard to pavement material selection. the soundness test on aggregates is conducted to study the resistance of
aggregate to:

Options:

1 % Mechanical abrasion

- % Sonorous property

= Weathering action

4 % Freeze-thaw

Question Number : 96 Question Id : 879753900 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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¥ R genfea fFar srar 27

Options:

| % TIT¥ OEOT
taﬁma;m

o B
5 o HueTT GRaT
4 % STHAT-TIEEAT

Question Number : 97 Question Id : 879753901 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Los angeles abrasion value (%) of aggregates to be used for the final layer of Bituminous concrete is limited to:

Options:
2 ¢ 30
= % 40



Question Number : 97 Question Id : 879753901 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fagfamw Fhe &1 sifaw wa & T s7ae & 5= ao 9= & @9 el a¥uT AH(%) Fa
% WifAaT 272

Options:

1 & 25
> « 30
=z % 40
4 = ;B0

Question Number : 98 Question Id : 879753902 Question Type: MCQ Display Question Number®; Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The pressure sustained per unit deformation of subgrade at specified deformation level using specified plate size is
defined as:

Options:
, w California bearing ratio

- w Bearing capacity

-  Modulus of subgrade reaction

, % Safe bearing capacity

Question Number : 98 Question Id : 879753902 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 879753903 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a disadvantage of traffic signals?

Options:
; = Reduction in accidents due to crossing conflict

- u Pedestrian can cross the roads at signalized intersection



= « The rear-end collisions increase

4 % Thereis areasonable speed along the major traffic road

Question Number : 99 Question Id : 879753903 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fTrafof@a & @ Fia & Taana Thdl F T FJdrT g7

Options:
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Question Number : 100 Question Id : 879753904 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the jam density on a road designed for a free mean speed is 75 knvh is 100 vehicles/km. then the capacity flow will
be:

Options:

1 % 1500
5 o 1875
= % 2250
4 ® 2760

Question Number : 100 Question Id : 879753904 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofE v =T 3itEa =@ 76 fETer & v AfET v g5% 9T A" uaaT 100 TES/fRRET &, & sH e
9aTE B9

Options:

. % 1500
> « 1875
5 % 2250
. ® 2760

Question Number : 101 Question Id : 879753905 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Annual average daily traffic is obtained by determining average daily traffic volume recorded for
Options:

, » 302 days



o o 305 days

z # 24 months

10 years

Question Number : 101 Question Id : 879753905 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T aa s e e At & itua $os aaae aftome # e w7 & JEr
22

Options:

w302 R
. v 365 &=
3 % 24 FE
4 % 10 9§

Question Number : 102 Question Id : 879753906 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On a standard road braking test, a vehicle travelling at a speed of 10m/s was stopped by applying full brakes and the
skid marks were observed for a length of 10 m. What is the skid resistance of this pavement surface, assuming

gravitational acceleration to be 10 m/s>?
Options:
1 & 0.50

> % 0.60
s % 0.70
4 % 0.80

Question Number : 102 Question Id : 879753906 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct: 1 Wrong: 0.25
UF ATAF TEF FTeheT TNET0T H, 10 m/s F 71T F IA AT UF TES 0T §F TR U @ F1aw

HR frwee & e 10 m &1 gff 7% &= B I §) TRcare s @ 10 mis® A gT, 39
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Options:

v 0.50
, = 0.60
2 = 0.70
, = 0.80

Question Number : 103 Question Id : 879753907 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



In pavement design considerations, the maximum width of the vehicle is usually fixed and followed. The vehicle width
affects all of the following except

Options:
1 #% Width of the traffic lanes

> % Shoulders
- u Parking facilities

4  Drainage layer

Question Number : 103 Question Id : 879753907 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id : 879753908 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a commenly adopted transition curve in horizontal alignment?

Options:
, w Spiral

-~ % Cubic parabola

= % Lemniscate
4 Sag

Question Number : 104 Question Id : 879753908 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

L % T

> ® P e
. % RIS
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Question Number : 105 Question Id : 879753909 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A two lane road having a horizontal radius of 0.48 ki is to be designed with a design speed of 80 ki/h.
The super elevation for a mixed traffic type will be

Options:
1« 0.059

> % 0.065
s % 0.070
4 % 0.075

Question Number : 105 Question Id : 879753909 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
0.48 AT Fr v o =TT I -39 Fr TF T=F F7 AT 80 FEvmer 1 THOr wfy F Ty
ar STeT &1 v BT aaeg eeT # Riv sEdee # ax g@e

Options:

. » 0.059
. = 0.065
- = 0.070
. = 0.075

Question Number : 106 Question Id : 879753910 Question. Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Super elevation is used to counter all‘ef the following except.

Options:
, w Overturning of vehicles

> % The effect of centrifugal force
- % Skid

4 « Acceleration of vehicles

Question Number : 106 Question Id : 879753910 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
STEACUT T 39T T & g7 A & v har F1ar 830 TiEal

Options:
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Question Number : 107 Question Id : 879753911 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A road is so designed that the stopping sight distance is 92 m. The intermediate sight distance (m) will be:

Options:

1 ® 92
> % 138
3 o 184
4 % 230

Question Number : 107 Question Id : 879753911 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T WEF & HAIOT 6 VR foRam T 7 TR Tehae wA Fr gfr 92 #Hr gl Femadt ' # gl (#)
gt

Options:

, % 138

5 v 184

4 % 230

Question Number : 108 Question Id : 879753912 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The width (m) of two lanes without raised Kerbs as recommended by the Indian Roads Congress is:
Options:

1 ® 6.0

o> R 6.5

T

=

o ¥

g4 W T

Question Number : 108 Question Id : 879753912 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

%ﬁﬁﬂ?ﬁ@ﬁ? Iﬁdiagcfri}?%_?ds Congress) 9RETT T3S F99 anT fBwrfver & 12 = &Fany &

Options:

; & 6.0
- % 6.5
=z« 1.0
4 % 1.5

Question Number : 109 Question Id : 879753913 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Which of the following is not a permanent adjustment in case of a transit theodolite?
Options:

, w Adjustment of Horizontal Plate Levels

o  Focusing

- # Adjustment of Telescope Level or the Altitude Level Plate Levels

4 » Collimation Adjustment

Question Number : 109 Question Id : 879753913 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U UETHS MHEAEE & AHS 7 AFaai@d H ¥ S I U6 TR GAEASS J67 872

Options:
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Question Number : 110 Question Id : 879753914 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Theodolite is used for most of the following purposes except.

Options:
, % Measuring horizontal and vertical angles
- » Prolonging survey lines
- » lacheometric surveying

4 « Measuring horizontal distances

Question Number : 110 Question Id : 879753914 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

MAEeNSe F 39T FeEafa@d T3l varsar & @ Far S 858 osat
Options:

, » TAETUT FMEAT F FEEAR
. x CTEAATCE HEETOT FA
, o ST g A

Question Number : 111 Question Id : 879753915 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which of the following is not a method to determine the ultimate load capacity of a pile?

Options:
, w Single tangent

- % Double tangent

= o Secant

4 % Vander Veen's method

Question Number : 111 Question Id : 879753915 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T TIEd H HIBT 09X &7 Fuia e F v Faafai@a § § $i9 & o & 787 87

Options:

1 % Tehel T T@T
> # argdr Ty @
S.JW
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Question Number : 112 Question Id : 879753916 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not an assumption in Terzhaghi's formulation of bearing capacity equation?

Options:
1 = Plain strain condition exists

-  Base of the footing is smooth

5 % The width of the base of the footing is less than or equal to the founding depth

4 % Shear strength is governed by Mohr-Coulomb failure criteria

Question Number : 112 Question Id : 879753916 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TET &THAT FHET F T eoeer & gEeer 7 Aeafaies # ¥ Fi9 @ U q@EunoT J@ 82

Options:
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Question Number : 113 Question Id : 879753917 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The ultimate bearing capacity of a 700-mm diameter plate as determined from field load tests is 300 kIN/sq.m. The
ultimate bearing capacity (kIN/sq.m) of a circular footing with a diameter of 2.1 m in a sandy soil will be:

Options:
; % 100

5 % 150
s % 300
4 & 900

Question Number : 113 Question Id : 879753917 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
& @s wdeon ¥ fAenia v 700 B saw 7 e F 3umsa 989 &5ar 300 kNisq.m gl TR
YT g 7 2.1 #Hiex =rw 7 vF Jeaer FiedT Hr ITURST FET &TAT 2

Options:

. % 100
. % 150
5 # 300
4 v 900

Question Number : 114 Question Id : 879753918 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a cause ef differential settlement in soil foundations?

Options:
| % Vvarying water regime on a censtiuction site

-~ w Overlap of stress distribution in soil from adjoining structures
-  Consolidation including secondary compression

4 % Unequal expansion of the soil due to excavation for footings

Question Number : 114 Question Id : 879753918 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T=feaT # 9 #i7 O @ &1 d9 § 396d J989T F U5 FROT 767 87

Options:
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Question Number : 115 Question Id : 879753919 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The net intensity of loading which the foundation will carry without undergoing settlement in excess of the permissible
value for the structure under consideration but not exceeding net safe bearing capacity is called as:

Options:

, w Netloading intensity

> » Ultimate bearing capacity

- » Safe bearing capacity

4  Allowable bearing capacity

Question Number : 115 Question Id : 879753919 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

39 AfEE # g2 Agar FF Fr Far A g, o Tends g=er F i smEa A Frosfae,
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Options:
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Question Number : 116 Question Id : 879753920 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The cone penetration test (CPT) has four main advantages over the usual combination of boring. sampling and standard
penetration testing: which of thedollowing is not an advantage?

Options:
, w Itprovides a continuous. or virtually continuous record of ground conditions
2%

It avoids the disturbance of the ground associated with boring and sampling. particularly that which occurs with the
Standard Penetration Test (SPT).

-  It1s as expensive as conventional boring method

4 » Itis faster by a factor of about 10

Question Number : 116 Question Id : 879753920 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SINET, AT AR AF S TIE0T & WA FASAT AT HIET FiT S TE0T (CPT) & 9]
AET M 3 & afafea # ¥ 9 @1 vE oy F@ 2

Options:
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Question Number : 117 Question Id : 879753921 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An unrestrained slope can fail by any of the following mechanisms except.

Options:
1 % Flow

~ % Spread
- % Topple
4 « Shrink

Question Number : 117 Question Id : 879753921 Question Type: MCQ. Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U HEAT oo Aea Ot 7 ¥ G off oI e 2 @ear 258 oisee

Options:

1_%3%

Question Number : 118 Question Id ;: 879753922 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a flexible retaining wall?

Options:
1 # Cantilever

- w Gravity
- % Semi-gravity

4  Mechanically stabilized

Question Number : 118 Question Id : 879753922 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 119 Question Id : 879753923 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the liquid limit of a soil is 35%. then according to the Skempton's empirical index equation for unsaturated clays, the
estimated value of compression index would be:

Options:

. # 0.150
-~ % 0.200
3 o 0.225
4 % 0.250

Question Number : 119 Question Id : 879753923 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg v g & @ W 35% 2, o g g & O whasea & sngsfas gaes g &
HJAN, WIS AT F AT AT B

Options:

, % 0.150
- = 0.200
2« 0.225
. = 0.250

Question Number : 120 Question Id : 879753924 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

When a soil. whose present effective overburden pressure is the maximum pressure that it was subjected to in the past.
then it is:

Options:
1 # Unconsolidated

> of Normally consolidated

- % Overconsolidated

4 % Preconsolidated

Question Number : 120 Question Id : 879753924 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 121 Question Id : 879753925 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When foundations are constructed on very compressible clays, the consolidation settlement
can be X the elastic settlement.
Options:
1 % several times smaller than

o o Several times greater than
- % equalto

4 % unaffected by

Question Number : 121 Question Id : 879753925 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 122 Question Id : 879753926 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A 15 m deep sand layer has its groundwater table level at 5 m below the ground level. If the saturated and dry densities
of sand are 19.5 and 16.5 kN/cum. then the effective pressure (kIN/sq.m) just above the groundwater table would be:

Options:
1 ® 15

> % 975

[

= o 32,

[

EE 67.



Question Number : 122 Question Id : 879753926 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v 15 HIT TTEl 3T FT WA F A dIforer T 7 T § 5 A A g1 3 I & wged 3R o
Usted 19.5 3 16.5 kN/cum & & oo T & Ryergrer F9X gevrdl gama (kN/sq.m) &1

Options:

> % 97.5

3« 825

. % 675

Question Number : 123 Question Id : 879753927 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following soil types. in their fully saturated condition would have highest hydraulic conductivity?

Options:

, w Silty clay
- # Clayey silt
% % Fine sand
4 « Coarse sand

Question Number : 123 Question Id : 879753927 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fFafeea & & #i9 & B & o1 H 386 1 Tgod Tdd § 3= g8/ ae dTehdl grei?

Options:
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Question Number : 124 Question Id : 879753928 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With the increase in the moisture content. the strength of compacted clayey soils generally

Options:
1 & Decreases

> # Remains constant
= % Increases

4 % Does not depend on the moisture content



Question Number : 124 Question Id : 879753928 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T # T H FhE g W, aﬁrgéqﬁﬁmaﬁ?r#rmmaﬁw

Options:
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Question Number : 125 Question Id : 879753929 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a clay mineral?

Options:
1 « Alite

> % Montmorillonite
3z % Illite
4 % Kaolinite

Question Number : 125 Question Id : 879753929 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T=ea 7 o #i @ = @ a@EFs T @ 27
Options:

.. W Tellsc

, « HeCATAEE
o ® é?'nga-
L, w AR

Question Number : 126 Question Id : 879753930 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For a sandy soil, the maximum and minimum voids ratio are respectively 0.75 and 0.40. If the existing voids ratio is
0.65, then the relative density of this soil would approximately be:

Options:

o R 0.6

4.« 0.3



Question Number : 126 Question Id : 879753930 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
v e g & v, sfowan i Fg@an RfFd dqoa w@e 0.75 3l 0.40 81 afe AlsEr ffFa
HegaTd 0.65 &, af 37 &g &7 wrdet ueiey e fader gem?

Options:

1 & 0.5
- % 0.6
=z % 0.9
a9 Q.3

Question Number : 127 Question Id : 879753931 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The total mass of a 1.2 cum volume of soil is 2.4 MT. If this soil is at a moisture content of 25%, then the dry density
(kg/cum) of this soil will be:

Options:

1 % 1200
> % 1920
= o 1600
4 ® 1560

Question Number : 127 Question Id : 879753931 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
8 & 1.2 cum 3TaT &1 F FeaAE 2.4 MT g1 3f 38 &gy & @ &r #var 25% &, o 3@ &g
= Y Teica (kgicum) FIT FEI?

Options:

. % 1200
. = 1920
- « 1600
. % 1560

Question Number : 128 Question Id : 879753932 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the consistency index of a soil is unity, then the soil is approximately:

Options:
, % Inplastic state

5 o Al plastic limit
5 w Atliquid limit

4 % Afshrinkage limit



Question Number : 128 Question Id : 879753932 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afE v g 1 e gues s 8, ar &g s i

Options:
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Question Number : 129 Question Id : 879753933 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If D60. D30 and D10 sizes of a soil grading are 4 mm, 2 mm and 0.5 mm. what will be the coefficient of uniformity of
this soil?
Options:
1

o W

[ ]

3.
4 & 8

Question Number : 129 Question Id : 879753933 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afy e f3Er IfFe & D60, D30 3k D10-F1 7R 4 e, 2 e v 05 T &, ar sw @y &r
THEAAT ST I0MR T FE?

Options:
o ® 1
ST ] 2

4 8

Question Number : 130 Question Id : 879753934 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Structures in which marked changes in plan dimensions take place abruptly shall be provided with
X at the section where such changes occur, where X is:

Options:
1 % Additional columns

> % Deep beams

-  Expansion joints

4 w Construction joints



Question Number : 130 Question Id : 879753934 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T, e s st # Rftad REae e @9 8 7 3T 3T & X GER g Se
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Options:
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Question Number : 131 Question Id : 879753935 Question Type: MCQ Display Question Number..»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a method for curing high volume fly ash concrete?

Options:
; w» Useof curing compounds
o w Water sprinkling

- % Ponding

4  Nitrogen purging

Question Number : 131 Question Id : 879753935 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 132 Question Id : 879753936 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An arch of 8 m span is being concreted today. After how many days can the props be removed?

Options:
1 % 7

- ® 14

3_.;,.-"‘21



4 ® 28

Question Number : 132 Question Id : 879753936 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

8 m I T TF HF FF FHIT FT T A &7 7 TT 21 o Gt 9 357 7= "= &1 gear
T TRl &7

Options:

1 % 7

Question Number : 133 Question Id : 879753937 Question Type: MCQ Display Question Number :'Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The minimum eccentricity (nun) for vertical loading that should be considered while designing a 500 mm reinforced
cement concrete wall would be

Options:
1. % 3
> % 10
z % 20
4 o 25

Question Number : 133 Question Id : 879753937 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FeaTR g & v gaaa R (B #) F2r 29 G| v v 500 BT & gafoa dde Fe
& dEr # e s gaw fEm B s afge?

Options:

1. %5

4« 25

Question Number : 134 Question Id : 879753938 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A 125 nun flat. non-cellular. non-ribbed slab can have a reinforcement spacing limited to a maximum of

Options:
1 % 65mm

> % 125 mm
= % 190 mm

4 « 250 mm



Question Number : 134 Question Id : 879753938 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T# 125 AT gagw, -aehy, T aier =T & s 9o 390 7 3068 93T g &
Tadr 87

Options:

, » 65 A

> » 125 fA&AT
= % 190 &=
4 v 250 TR

Question Number : 135 Question Id : 879753939 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A continuous member beam is referred as deep beam when the ratio of @ffective span to overall depth is:
Options:

1 ® =a

> % =2

= o =S
4 ® =

Question Number : 135 Question Id : 879753939 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T Fad 3949 7 & @Y ¥ F T H G AT ST g T GHAT TS F o0 gaEr 33 v
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Options:
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Question Number : 136 Question Id : 879753940 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A project manager intends to design a concrete mix proportion for M30 grade of concrete. From his previous
experience, he knows that the standard deviation is 3 MPa. To validate the same. he asks his Materials Engineer to cast
40 samples, the standard deviation for which is found to be 4 MPa in lab. If the concrete mix is to be designed for a
failure rate of 1 in 100 (t = 2.33). then the target mean strength for proportioning the mixture would approximately be

Options:
1 ® 37
o 39
z ® 40



4 ® 42

Question Number : 136 Question Id : 879753940 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 & 37
> « 39
=z % 40
4 % 42

Question Number : 137 Question Id : 879753941 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Creep deformation is a property of any material to deformunder the influence of

Options:
1 % Thermal stresses

s Moisture related stresses

« Mechanical stresses

O

®

Stresses due to wind loads

Question Number : 137 Question Id : 879753941 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 ® Fﬂ"ﬂ'-EI'FIFﬂ?

o
= o HllAen dalld

4$a|=gra¢r¢a:wm

Question Number : 138 Question Id : 879753942 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The initial setting time of cement as specified in the Indian standards is:

Options:



1 « =30min
> # <30 min
z % = 600 min
< 600 min

o

4.

Question Number : 138 Question Id : 879753942 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT AT § Aftse @ & o B9 & O urfEs gEy
Options:
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> % < 30 A=<

5 = > 600 fA=c

4 % < 600 A=

Question Number : 139 Question Id : 879753943 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Alkali-Silica reactivity is a potential cause of distress in
Options:

, % Sludge treatment plant

-~ % Hydraulic jump

= o Concrete

4 » Drinking water

Question Number : 139 Question Id : 879753943 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

arr-Tafere fafEFaehear &Fad =our &1 v gafag Fror 22

Options:

| x HIES 3T FIF
o % BISBIeR SIFT

3 v I

4 % 9T FA

Question Number : 140 Question Id : 879753944 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The yield strength of Fe 415 steel in MPa would be a minimum of

Options:
1 % 2500



> % 380.0
3 « 415.0
4 % 500.0

Question Number : 140 Question Id : 879753944 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
MPa # Fe 415 FEIel &1 3c9Es &AAT #4IdH fehdal IRT?

Options:

| % 250.0
. = 380.0
2 v 415.0
., # 500.0

Question Number : 141 Question Id : 879753945 Question Type: MCQ Display Question Number: Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An engineer wants to design a reinforced cement concrete (RCC) structure’in sea-water. What should be the minimum
grade of concrete, he should use. while following IS 4567

Options:

1 ® M2O
> % M25
3 « M30
4 % M40

Question Number : 141 Question Id : 879753945 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
UH I AR & 9 H Ve FaTod HiAE Hwie (RCC) FI=T F1 AT FIaAT A g1 IS 456 &
O FA e 3% ZEART 39919 & S I S F ~gA0H IS FIAT FIT AMET?

Options:

% M20
, = M25
-« M30
. = M40

Question Number : 142 Question 1d : 879753946 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Reinforced concrete beam sections in which the steel reaches yield strain at loads lower than the load at which the
concrete reaches failure strain are called

Options:
1 « Under-reinforced sections

> % Balanced sections



= % Over-reinforced sections
4 # Prestressed sections

Question Number : 142 Question Id : 879753946 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁﬁ?ﬁimﬁw,mﬁﬁﬂﬁ?aﬁﬁﬂﬁmddmﬂqéﬂd Jrel oS § FH A5 9T 390
T T TEIAA §, P FA FET A L7

Options:
B cré-Cicik i
1. E

> B 2 2

” ya-gafoa ECEIL

=

= ua Sfaafad s

Question Number : 143 Question Id : 879753947 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is not an assumption in the limit state theory for designing of reinforced cement concrete
(RCC)?

Options:

, % Strains are proportional to distance froma‘'the newral axis

2.

The tensile strength of concrete is negleeted.as the section is assumed to be cracked up to the neutral axis
39

Ultimate limit state of bending failure is assumed to have been reached when the strain in the concrete at the extreme
bending compression fiber reaches 0.0050

4 B
The stress distribution across cofipression face will correspond to the stress-strain diagram for concrete in compression

Question Number : 143 Question Id : 879753947 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

geterd WHT Fre (RCC) F AT & w afidar smrr & fEa #§ feea § ¥ 9 @ =
HIUTTUT &7 27

Options:

defta df¥er a7 & g & v amgafas B

1 =%
> R

FHIT FF I aﬁmﬂ%mﬁ:y@mmyﬂﬁmgmmm%l

i
e fatherar 1 T WA HTEA FF TG T A AN & TG WA T FhSA FEH W FHE H
g 0.0050 & FEIT B



T

ﬁsﬂmwrmm T&ﬁau:#ﬁgﬁﬁm#ﬁwm-ammﬁmma

Question Number : 144 Question Id : 879753948 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A site engineer wants to quickly pour a circular column to support a G+1 building. There are no other major loading
considerations. but the building is in seismic zone - 1. what should be the minimum number of longitudinal rebars
provided?
Options:

1 ® 3

o W

L 4;_

3 ®

[

4.

Question Number : 144 Question Id : 879753948 Question Type: MCQ Display Question Number :«Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF TEE TR G+1 TART & FAYA 1 & [0 Fod] ¥ T Joaid T87 ST 98T g1 J@1 W
Tt ot 3 9@ ST &7 A A8 ¢, Al ARG FN 8T - 1 H g, Yo Hd T aegeey
TRET & FgAaH HEAT FAT T AMEe?

Options:

1 % 3
> R 4
o ® 5

4 6

Question Number : 145 Question 1d : 879753949 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A foundation is to be designed.for a column supporting a G — 11 building. This foundation is resting on a sound rock.
What should be the minimum eover (mm) of provided to the reinforcement?

Options:
1 ® 40

Question Number : 145 Question Id : 879753949 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
G + 11 SART & AT F= I TF T F ©0 TF A9 o997 #7 F060 21 #F TF 39 939 W
AT A 71 GEEUT & O Yo fRY S AT s geas Fa () fhaer ger anfge?

Options:




Question Number : 146 Question Id : 879753950 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The estimated flexural strength (MPa) of a concrete having a measured compressive strength of 64 MPa would be (as
per IS 456),

Options:
1 ® T2

Question Number : 146 Question Id : 879753950 Question Type: MCQ Display Question Number': Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T Fehie [or@eT AT 13T §dsa ofag 64 MPa &, I HFAMAT dH AT (MPa) 1 gt (IS 456
F 3HIAR)?

Options:

= W 5.6

Question Number : 147 Question Id : 879753951 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For low alkali cements.«he alkali content is usually restricted to X% by weight. where X is:

Options:
L % 0.04

> % 0.40
5 % 0.50
4 « 0.60

Question Number : 147 Question Id : 879753951 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e e deie & BT, 8T @l 3EAR 9T a9 F AWFER X% 9% iR @ S g o3 X
Options:

, % 0.04
. % 0.40




- % 050
. 0.60

Question Number : 148 Question Id : 879753952 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
As per IS 456. the ordinary Portland cement (kg/cum) should be restricted to what value without any special
consideration in design to avoid thermal cracking?

Options:
1 ® 380

5 o 450
s % 540
4 % 600

Question Number : 148 Question Id : 879753952 Question Type: MCQ Display Question Number.: Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IS 456 & HTHN, WIRUT Teeis HHT (kg/cum) F T Teawa e & fav faswr 7 e B
v e & g a9 @f g B s =fze?

Options:

. % 380
- v 450
2 % 540
., % 600

Question Number : 149 Question Id : 879753953 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following propertiesis not required for concrete mix design. as per the guidelines given by the Indian
Standard?

Options:
. w Specific gravity of cement

-  Density of aggregate

5 » Maximum size of aggregate

4 w Characteristic strength of concrete

Question Number : 149 Question Id : 879753953 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT Al ganr fov a7 far el & s Fde e F fador & v f=lRRa dasa @
0T AT e 87

Options:

L ﬁrﬁ?mﬁﬁmw



o> o Hehel Heicd

5 % Thel & HUFIH HFR
.« FoIE F T A

Question Number : 150 Question Id : 879753954 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Compaction factor apparatus is used to measure which of the following properties of concrete?
Options:

1 « Consistence

> % Compatibility
5 » Compatibility with admixture

4 % Cohesiveness

Question Number : 150 Question Id : 879753954 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T Fe ITRIOT Fhie & [Aeationad H § Fia § 707 1 A & e swer G s 22

Options:

4 % THHEIATT
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 879753955 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the least number which when divided by 12, 15 and 24 leaves remainder 5 in each case?

Options:
;% 115

> % 120
5 o 125
4 % 130



Question Number : 151 Question Id : 879753955 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
I8 O ¥ O gEar 4T g, O 12, 15 g7 24 ¥ R ae W 9als 2ufay F 5 oW F=ar 7

Options:

, % 115
> % 120
2 ¢ 125
4 = 130

Question Number : 152 Question Id : 879753956 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ifa:b=4:5and b:c=3:7. then what is value of a : ¢?
Options:

1 ® 4:7

G| ® 7:4

= % 3512

4 o 12:35

Question Number : 152 Question Id : 879753956 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T a:b=4:53T b:c=3:784 a: caF AF FT M7

Options:

1 % 4 :7
> % 7.4
2 % 35 :12
40 122 35

Question Number : 153 Question Id : 879753957 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A sum of money amounts to ¥ 2200 in 2 years and ¥ 2300 in 3 years at simple interest. What is the sum of money?

Options:
; ® 1900

> % T1950
s « T2000
4 % T2100

Question Number : 153 Question 1d : 879753957 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



T& {19 TTUROT =4S Fr 2T ¥ 2 Fuf F T 2200 g I & v 3 Fuf F ¥ 2300 g S 2 g% uhr
T §7?

Options:

% T1900
., # T 1950
2 ¢ T2000
. # 2100

Question Number : 154 Question Id : 879753958 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The selling price of an article is ¥ 3000. If profit is 20% on cost price. what is the cost price of the article?

Options:
;. % T3600

5 & T2500
s % %2400
4 % T2000

Question Number : 154 Question Id : 879753958 Question Type: MCQ Display. Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U& FFG F f@3FT AeT T 3000 ¥ TR A, BT FeT F 20% &, O 3F TE] F FT HeT fohdeT 87

Options:

, % T 3600
- ¢ T 2500
. % ¥2400
4 % 2000

Question Number : 155 Question Id : 879753959 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Two vessels A and B contain spirit and water in the ratio 2 : 3 and 3 : 4 respectively. Their contents are mixed
in the ratio 3 : 1. What is the ratio of spirit and water in the new mixture?
Options:
1.« 57 :83

Question Number : 155 Question Id : 879753959 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



ar Sl H TEIC a7 9T % AT A 2 0 3 W 30 4 8| A% AU AT 3 1 1%
I 7 TRemar s g1 F% Fsor # e ur 9l v e = geme

Options:

1 « 57 : 83
- % 83 : 57
=% 2:1

4 % 25 : 43

Question Number : 156 Question Id : 879753960 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A train 90 m long is moving at a speed of 44 km/h. It crosses a train 120 m long coming from opposite direction along
parallel tracks in 6 seconds. What is the speed of the second train?

Options:

1 # 132 km/h
> « 82 km/h
z % 80 km/h
4 % 56 kmv/h

Question Number : 156 Question Id : 879753960 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T YermEr fSwdr FeE 90 m g 44 km/h F T W I T & TE 120 m FE TH @y
wEmdr St Aol fer @ g eRE T 3 W €, Y 6 O H IR = g1 md s i
oTer forageT 22

Options:

% 132 km/h
- » 82 km/h
- = 80 km/h
. % 56 km/h

Question Number : 157 Question Id : 879753961 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Six men can complete a work in 12 days. 3 days after they started the work. 3 more men joined them. How many days
will they take to finish the remaining work?

Options:
1 ® 3

2_%3—1
3¢ 6
4 % 9



Question Number : 157 Question Id : 879753961 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

6 AT fhdlr & & 12 *F #F W X Taha g1 FY ITEH = F 3 &7 wearT 3w 3
et 30 e 99 € O v s w1 o Rt & @ @ S

Options:

1 % 3
> % 4
3¢ 6
4% 9

Question Number : 158 Question Id : 879753962 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The ratio of 10® term to 7 term of a G.P. is 1 : 8. What is the common satio.of the G.P.?

Options:
1

rd
:
[ ]

A
®
GO m|e

Question Number : 158 Question Id : 879753962 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rrdr G.P. (soeat #d1) & HE T W 9al & 3g9d 1 : 8 §1 G.P. FT 6 3 F4 87

Options:

&
12
> % 2

1
5 % 8
4 % 8

Question Number : 159 Question Id : 879753963 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A spherical balloon of radius 1 m subtends an angle of 60° at the eye of an observer. If the angle of elevation of its
centre is 45°%, what is the height of the centre of the balloon?
Assume that the eye of observer is at level ground.

Options:
1 % 100 cm

5 « 100v2 cm



100
, g o

.
4 % 100v3 cm

Question Number : 159 Question Id : 879753963 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U MR TEERT S B=ar 1 m #, v 9aTw F H@r ) 60° F FHor IfET Far B
afg Fete FT HW T TEER F g F 3eoidd HIOT 45° § T AR F Fg B 3Ag haar 82

(AT ST Jar Fr 3TE 9T H gag W )
Options:
1 % 100 cm

5« 100+/2cm

100

—+/3ecm
2

fah

=
4 = 100+/3cm

Question Number : 160 Question Id : 879753964 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What is the quadratic equation whose roots are thié squates of roots of the equation x2 + 3v2x+ 6 =07
Options:

| % ¥2—12x+36=0

5 % Y2 +12x+36=0
s % Y2 +6v+-36=0

4 X —6x+36=0

Question Number : 160 Question Id : 879753964 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I€ SO FAERIOT FT 2R S Hol 0T
X +3V2x+ 6 =0 F FA F F9T F AT &2

Options:

L% X2 -12x+36=0
% X +12x+36=0
% X +6x+36=0
L X -6x+36=0



Question Number : 161 Question Id : 879753965 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
M 1s the brother of J.
L 1s the sister of M.
K is the daughter of J.
N is the brother of K.
How is N related to M?
Options:
1 % Father
> % Uncle
= % 5Son

4 « Nephew

Question Number : 161 Question Id : 879753965 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
M, J FT &2 &
L, M &r 5&= g1
K, J #T 8T 7
N, K & &g &
N & M ¥ 37T Ja9 27
Options:

% o

o % =l

5 % &

4 v AT

Question Number : 162 Question Id:: 879753966 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.25
Which of the following numbers is related to 498 in the same way as 29 is related to 907

Options:
, % 159

5 o 165
2 % 250
4 % 255

Question Number : 162 Question Id : 879753966 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

aoi@T Aecdr # & ST §&ar 498 ¥ 3 38 91 g & 59 91 29 I8 §&ar
90 ¥ mefaa &7



Options:

% 159
. » 165
5 # 250
. % 255

Question Number : 163 Question Id : 879753967 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is related to *Cordial’ in the same way as ‘Gentle’ is related to ‘Harsh’?

Options:
1 % Kind

s Timid
« Hostile
Polite

.

4

Question Number : 163 Question Id : 879753967 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

59 99X ‘Gentle’. ‘Harsh’ & g0 g, 38 9. @=@a § & &9 41 2= ‘Cordial’ ¥ =T 872
Options:

. % Kind

- % Timid

= « Hostile

4 % Polite

Question Number : 164 Question Id : 879753968 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Five friends are sitting in a cirele facing the centre. Chanchal is sitting immediately to the left of Padma. Manju is sitting
between Deepu and Padma. Who is sitting to the immediate right of Bhavna?

Options:
1 + Chanchal

> % Padma

5 » Manju

4 % Deepu

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 164 Question Id : 879753968 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ire SFd Fed H N Hg FA gU NemRR H 88 gU §| T, T A gid a1 A S8 F1 A
&g 3R T & @ & &) aEer B gIE I HR FiA dar B2

Options:



arg

Bl i
Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 165 Question Id : 879753969 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average age of 24 students and their teacher is 25 years. If the teacher’s age is excluded, the average reduces by 1.
What is the teacher’s age?

Options:
| % 25 years

5 % 37 years

5 % 42 years

4 49 years

Question Number : 165 Question Id : 879753969 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

24 Toeanf¥at w9 3o Res & 3ilea g 25 af ) Rute &1 3y & affied 7 &3 T e 1
FH g ST &1 RrerR fr Ay F 2

Options:

, % 25 9§
5 % 37 a¥
- % 42 ¥
4 v 49 T¥

Question Number : 166 Question Id : 879753970 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If in a certain code SPRING is written as RQQJIMH. then how will FLOWER be written in the same code?

Options:
, &« EKNVDQ

>  EMNXDS
. » GKPVFQ
4 % REWOLF

Question Number : 166 Question Id : 879753970 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



I T #3127 § SPRING #F RQQJMH & &7 & @ Far & a1, 38T 312 & FLOWER &7 &% forar
FATTAT?

Options:

. » EKNVDQ

- v EMNXDS

- % GKPVFQ

. » REWOLF

Question Number : 167 Question Id : 879753971 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Amit goes 12 metres South. then turns left and walks 15 metres, then turns right and walks 15 metres and he again turns
right and walks 15 metres. Finally. he turns to the right and moves a distance of 5 metres. How far and in which
direction is he from the starting point?

Options:
1 # 22 metres North

> « 22 metres South
= % 12 metres East
4 % 15 metres West

Question Number : 167 Question Id : 879753971 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HfEq, gfaror #r 3R 12 e Fmar g, 3 B 915 3R g3 15 HeX T g, 3§ 8¢ 98 a8
3R FgHT 15 T Terar ¢ 3R 38 B g HX g3 15 HieX 99 81 39 &, 9% g 3R gE
5 #HIeT FoaT g1 YT T ¥ g fhastr gy AN fFw feam 7 22

Options:

| % 22 #ARY 3c
2,22#2?%
.y 12 g

Question Number : 168 Question Id : 879753972 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing number from the given alternatives.

4 12 4
6 29

7 38 11
9 75 ?




Options:
1.v 6
> % 7
= B 3
4 % 9

Question Number : 168 Question Id : 879753972 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A fow av Reeat & § o7 3HF T 9T T

4 12 4
6 29
if 38 11
Y 75 ?
Options:
1.« 6
> % 7
2 % 8
4 % 8

Question Number : 169 Question Id : 879753973 QuestionType: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the diagram that best represents the relationship among classes given below,
Pet. Animal. Wolf

Options:

O

o R



ER

Question Number : 169 Question Id : 879753973 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
37 R &1 TgTT F{ I AEaer@g F91 & S T 9T a9 ¥ 20 r &
orere, 9, SEET, A

Options:

OO

©0

o %

4 o

Question Number : 170 Question Id : 879753974 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the given statements to be true, even if they are at variance from commonly known facts and decide which of
the given conclusions can definitely be drawn from the given statements.
Statements:
1. All trucks are trains.
2. Some trains are scooters.

Conclusions:
I. Some tmcks are scoofers.
1I. Some trains are trucks.
Options:

; w Only conclusion I follows.



5 of Only conclusion IT follows.

% % Both conclusions I and II follow.

4 % Neither conclusion I nor II follows.

Question Number : 170 Question Id : 879753974 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TraRaT Fue, I OHE=Iaar AT J9237 ¥ Be 27 ar off 3=% TEr A= 3T o7 @ & & S
foT 71T Fuat H ¥ FiF ¥ TR 300 2 £

FUA :

1. T ¢F ¢ BT &
2. 55 & TRl & &l

far==:
. FT TF T A9 g
Il. T A g 8 ¢

Options:

- Faet [ HY | SHPT HFHIUT LA 2
i aet fAswy || SHHT HFTEIOT AT ¢
g AT 1l ST SHHT HFHOT A &

71 3R T E |l SHA HFEWOT A B

4 ®

Display Number Panel: Yes
Group All Questions: No

Question Number : 171 Question Id : 879753975 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which Article of Indian Constitution guarantees equality of opportunity in matters of public employment?

Options:
;. ® Art. 19

> % Art. 14
2 % Art. 21
4 o Art. 16

Question Number : 171 Question Id : 879753975 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



AR @faws & 58 g0 (Article) % T@8d @l @it (public employment) & =& #r
TATAAT Fr T & S 272

Options:

| 4 ¥I=0T (Article) 19
. FI=0¢ (Article) 14
, ¥T=ST (Article) 21
He=o (Article) 16

2.

=
4.

Question Number : 172 Question Id : 879753976 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which pair of Indian Constitutional Provision and the country that influenced itois not correctly matched?
Options:
, w Parliamentary System - Britain

-  Fundamental Rights - USSR

5 % Concuwrrent List - Australia

, % Directive Principles of State Policy - Ireland

Question Number : 172 Question Id : 879753976 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT & P ¥ SRAT TauEd g R 5w & F 3§ wd B § gate a8 8
Options:

1 ® Wm-ﬁﬂ?

. v Al ¥R - AiffEg v

_— =P=Crif ﬂ??r (Concurrent List) - sfreeforar

L« T=T & #Aifg @ e - 3mets

Question Number : 173 Question Id : 879753977 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which country won the maximum number of medals in the Rio Olympics. 20167

Options:
1 % China

- % India
= # Russia
4 « USA



Question Number : 173 Question Id : 879753977 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o gor & TaT 3w, 2016 # 3Rwan 98 Siar 27
Options:

1_33??1?-!'

&gwﬁ T 33T

4 &

Question Number : 174 Question Id : 879753978 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which player has won the maximum number of Grand Slam men's singles tournaments in Tennis?

Options:
1 % John McEnroe

5 % Pete Sampras
5 w Andre Agassi

4  Roger Federer

Question Number : 174 Question Id : 879753978 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

C%%nzoiwm#wﬁﬁmﬂw dzroim fAw (vorer) f@ame g 272
Options:

% ST HFRT

> ® g dFary

N —

4. TR B

Question Number : 175 Question Id : 879753979 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where was ASEAN Sumumit. 2016 held?

Options:
1 % Jakarta

» % Hangzhou
3 « Vientiane

4 % Singapore



Question Number : 175 Question Id : 879753979 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HIfAAF (ASEAN) TfAT 2016 Far g T

Options:

1. ¥ STl

o % gT=TF (Hangzhou)

» At (Vientiane)
IF=CiIEy

4 % 3

=

Question Number : 176 Question Id : 879753980 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which state of India has created first island district of India?
Options:

1 % Goa

> u Gujarat

= % Maharashtra

4 « Assam

Question Number : 176 Question Id : 879753980 Question.Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ad & 58 7= 3 vu= & & (Island District) Fanfag G g2
Options:

1_239'ﬂEIT

o ® 2

3 % HENES

Question Number : 177 Question Id : 879753981 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is GST?
Options:

| Asingle indirect tax throughout India

> u A single direct tax throughout India

- % Multiple direct tax regimes throughout India

4 % Multiple indirect tax regimes throughout India



Question Number : 177 Question Id : 879753981 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ST.TE.E (GST) &7 22
Options:

FI{D‘r SRA # o] UF ITcTET

1.¢

& ;m:q;u‘r SRA # 6] UF ToIeT

2

. o SR 8T H WF] e ToUeT FI ;AT

, w TR 8R H &) Helsh 39cTET Y cAGEdqT

Question Number : 178 Question Id : 879753982 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who would act as the Chairperson of the proposed GST Council?

Options:
, w Union Finance Secretary

=~ % RBI Governor

5 % Union Commerce and Industry Minister

4 « Union Finance Minister

Question Number : 178 Question Id : 879753982 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AfFafaa F o #i7 S oa s (GST) oiiwg & 3e7ey & § H FIT FEm?

Options:

. % Heg fIea wfRE
. x FEAIT AV TS AT 7

4 S’nﬂ;‘ﬁﬂ 'I-E{fd AT

Question Number : 179 Question Id : 879753983 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“Reading the Past, Writing the Future”. was the theme of:

Options:

, w The International Yoga Day. 2016

-~ % International Day of Forests, 2016

- % International Mother Earth Day. 2016

i P International Literacy Day, 2016



Question Number : 179 Question Id : 879753983 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3T F geaT T afasy = wer (‘Reading the Past, Writing the future”), Teafef@a & @
frmerr fAvgarg (theme) o1

Options:

|« AU AT fEEw, 2016

, x HAUSET I f&Fw, 2016

3 % HFI?‘I'@TT ‘{Eﬁﬂ'IT-IT feaw, (International Mother Earth Day, 2016)
, » FOSET wERAT =W, 2016

Question Number : 180 Question Id : 879753984 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the following statements about West Bengal.
1. It has changed its name from West Bengal to Bangla in Bengali.
2. It has changed its name from West Bengal to Bengal in English:
3. Its assembly has rejected the proposal to change the State’s name.
4. It has changed its name. However. consent of the Parliament is necessary to effect the name change.

Which of the above statements is/are FATL.SE?
Options:
; » Onlylandd4

> » Only2and3
5  Only3

4 » Only4

Question Number : 180 Questionld : 879753984 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofegH ¥9e & ¢ § Feafe@a Fuar 9w T fifew
1.30 ST & 9T A1F 99987 97 ¥ &9Tm (Bangla) S9melr &mwr H T foram &)
2.3W TSI & 39T A7 998 9T ¥ 91 (Bengal) 33T # FT form &1
3.39 U= #I ue @ 7 39 =T F1 717 g¢ad & JEaT & @M &7 &3 71
4.0 5T & 39T ATH S § ofehed AT HHS T gAY 5 I9ET 90 F O smaegs §)

ITFT FUAT H F FiT 91 U4 7Tad £7

Options:



4 % Hhdol 4

Question Number : 181 Question Id ;: 879753985 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Muscles are attached to the bones by means of:

Options:

, w ligaments
> o tendons
3 # ribs

4 % fibula

Question Number : 181 Question Id : 879753985 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ArEaTRET & ATCTA ¥ gRA § 3 A 2

Options:

, % ©IRTHEH (Ligaments)
o o &sied (Tendons)

. gEAT (Ribs)
ﬁlﬁ;ﬁT (Fibula)

B

4 ®

Question Number : 182 Question Id : 879753986 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Without the “Greenhouse effect’.'the temperature of the earth would have been:

Options:
1 % 0°C

> % 60°C
2 % —50°C
4 ¥ —18°C

Question Number : 182 Question Id : 879753986 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A e138 gH9E & o=, gt F1 q9A F724r g FAGr?

Options:

SQ'SD%ﬂ-m
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Question Number : 183 Question Id : 879753987 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is “Namami Gange™?

Options:
, = Asocial welfare programme for under-nourished children
-~ % Rehabilitation of persons devastated by floods near the bank of Ganga river

- % Scientific management of “overcrowding™ at the pilgrimage centers around Ganga river

4  AnIntegrated Ganga Conservation Mission

Question Number : 183 Question Id : 879753987 Question Type: MCQ Display Question Number. ;. Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:

= W;ﬁrwﬁﬁaﬁ#ﬁmmﬂmﬁﬁmm
= I AT F AT F W a6 W AT SAEN % JHAGE F T TR egawer

L« T FET F I F I Tl ¥ sfEHE & AAAE Taeua HT UH aawn
, v TF THIEA IR ERET0T e

Question Number : 184 Question Id : 879753988 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following blood groups of human beings is called “Universal donor™?

Options:

1 % AB-—
-~ % B+
3¢ O-
4. % AT

Question Number : 184 Question Id : 879753988 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT % fAF & g1 § ¥ FIF 9 &9 G “gfAa8d aar (Universal Donor) gl ST 872
Options:

1 % AB‘_

2_%35"-“

z¢ O -



4% A+

Question Number : 185 Question Id : 879753989 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is National Gallery of Modern Axt situated?

Options:
1 # Ahmedabad

> # Kolkata
%z % Port Blair
4 « New Delhi

Question Number : 185 Question Id : 879753989 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HfAe For HErera (National Gallery of Modern Art) fasarfaf@a & & e @ & g 272
Options:

| % JgHACTEIS
> % ehrorendl

.« W SRR
4 v T e

Question Number : 186 Question Id : 879753990 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following states of India is associated with “Mohiniyattam™ dance form?

Options:
1 % Odisha

> % West Bengal

= % Assam
4 « Kerala

Question Number : 186 Question Id : 879753990 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fFeafaf@a # @ sva # Fia Ts¥ AfgAgA (Mohiniyattam) Fe et & a7 g3 g7

Options:

| » 3 (Odisha)
- % GTIEH e
o R HEH




Question Number : 187 Question Id : 879753991 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

“Servants of India Society” was founded by:
Options:

Mahatma Gandhi

®

3
> % Bal Gangadhar Tilak

z « G.K. Gokhale

4 % Annie Besant

Question Number : 187 Question Id : 879753991 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
gdeeg HTF sfFar grasdr (“Servants of India Society”) fFass ZarT TarRg f&F it 12

Options:

| % HETCHT IMed

. w aref MR e
o o SNETSl ST MG

Question Number : 188 Question Id : 879753992 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Cabinet Mission Plan to malke India a loose. three-tier confederation. as a possible alternative to partition. failed
because:
Options:

, w The Congress did not aecept it initially.

> w The Muslim League did not accept it initially.
- % [Ihe British government opposed it.

4 « The Congress and Muslim League interpreted the plan in a mutually opposed way.

Question Number : 188 Question Id : 879753992 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fieae e &1 T &1 3F5eds 9509 8H 8a1g # T FAFR did Ta0T 9iEg
(aloose three-tier Confederation) ST & Tt off, 9 Fwar &1 =1, it

Options:

¥ H FEH 7 3§ TR 71 )
UE H HIEA Al F FH TSN A2l o]

1 %

> R
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Question Number : 189 Question Id : 879753993 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Indus river originates near:
Options:

1 « Mansarovar

> w Gangotri

z % North Kashmir
4 # Siachen Glacier

Question Number : 189 Question Id : 879753993 Question Type: MCQ Display Question Number :.Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ey @& & seafea (Origin) Far g 82

Options:

1_@*?"??[@3?

4 % RO TR

Question Number : 190 Question Id : 879753994 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following major rivers of Deccan region is NOT east flowing river?

Options:
1 « Narmada

> % Godavari
= % Krishna

4 % Cauvery

Question Number : 190 Question Id : 879753994 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
a8 F YA Ald H F @i # 7y qdt feen Fr T & ggdr 32

Options:

e “_#ET
-k QICIEEY
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Display Number Panel: Yes
Group All Questions: No

Question Id : 879753995 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
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Sub questions

Question Number : 191 Question Id : 879753996 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ze= FT gHET I BT 59T 39 —

Options:

| v TETRA HERfASR gl

, » Geet & Qs et grem
. u TISERAT STEESATS FTM

, » TSfRal BRI W

Question Number : 192 Question Id : 879753997 Question Type: MCQ Display Question Number i»Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9H-faE #1 9RuTH IF 2T & —
Options:

2y wsferal & aTlier g7 gl

o % OISRl B T ATATRS & ST
5  TETRAl & AA-SIR Herl

4 " mﬁrﬁfﬂmﬂﬁ@?ﬁ

Question Number : 193 Question Id : 879753998 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

22 =T §HEN 99 S1dl § o9 —
Options:
» TT-TET STel= &L A

1

T T e B
4_&@%?@

Question Number : 194 Question Id : 879753999 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3l O Z@S FIlA THEN FET a4 T
iR —

Options:

e gferd & @y @ g
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Question Number : 195 Question Id : 8797531000 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

28 g T UNUTH AT BT & B —

Options:

|« e 9 S

, o TRER gE e E

s T FT FEAA Fal g
. % HA GcH & AT g

Question Id : 879753995 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
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Sub questions

Question Number : 191 Question Id : 879753996 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Zg T GHREOT T e el 39 —

Options:

| o TERT TeAfAET gl

. % Ggol o TTemd HEe= grem
. u CISTRAT ST EEATSl HLM
, » SfRar g e



Question Number : 192 Question Id : 879753997 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
9H7-faarg &1 9ons I gem & —
Options:

| TSfeRAT T TE gy Erel

. % TSROl BT T ATATRS & S0
5  TEERAl S AF-CIR fHerET

. » O FT FFF0T A g

Question Number : 193 Question Id : 879753998 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e =9 §AE 99 F1 9T § 99 —
Options:
| o -8 AToT=] E;r SATT

, % TSHN TT g T oG F
- % &=l 9RaER feEmEr Fa e

Question Number : 194 Question Id : 879753999 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

32T Tk ZES FIele FATET FT. FgT g 91T,
FaITeh —

Options:

| IO e
, u TSRAT & Fe diSe ol

_mmﬁﬁmwaﬁgm
=i o

, % AT F EF F@I T

Question Number : 195 Question Id : 8797531000 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

gg=T da-dy T INUTH T gar & & —

Options:

| » TS &€ ST &
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Question Number : 196 Question Id : 8797531001 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
oeT # 9 &9 ¥ oeg Fr 39T TEr a7

Options:

Question Number : 196 Question Id : 8797531001 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tafaa #  #i9 ¥ oeg Fr 947 Far 22

Options:

Question Number : 197 Question Id ;: 8797531002 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

QROT H AT g AT o FIT TF oreg BT —
Options:

1 # IWUTSTAT

5 o IOIETA

5 # AWUIMLR

4 % 2RO

Question Number : 197 Question Id : 8797531002 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 . AROTETT
3. % INUMER

4 ® IROTST

Question Number : 198 Question Id : 8797531003 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hfagiee eeg & Fea ghem —

Options:

Question Number : 198 Question Id : 8797531003 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

sfagite’ oreg #T faateT g —

Options:

Question Number : 199 Question Id : 8797531004 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TSHAT AEE, T TATT AT & —
Options:

| w TS

o % oHHl

5 o TleERT

4 % TTAT



Question Number : 199 Question Id : 8797531004 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘TSAT Ueg FT AT AT & —
Options:

1_%3m
g_ﬁm

3. SIEC
4 % TTAT

Question Number : 200 Question Id : 8797531005 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FEA @ AT 3 & T wEr gEE E—
Options:

| ®% Ol Bear

o o DT T HIT S

4 % O 9 e T@AT

Question Number : 200 Question Id : 8797531005 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
g 5 S 300 T ol INGA -

Options:
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